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GENERAL INSTRUCTIONS :

Read the following instructions carefully and follow them :

(t)

(i)

(iii)

(iv)

v)

(vi)

(vii)

(viii)

(ix)
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This question paper contains 30 questions. All questions are

compulsory.

Question paper is divided into FIVE SECTIONS - Section A, B, C, D
& E.

Section A — question number 1 to 12 are multiple choice type questions.

Each question carries 1 mark.

Section B — question number 13 to 18 are Short Answer type questions.
Each question carries 2 marks. Write answer to each question in
50 to 60 words.

Section C - question number 19 to 23 are Long Answer type-1
questions. Each question carries 4 marks. Write answer to each question
in 100 to 120 words.

Section D — question number 24 to 26 are passage, cartoon and Map-

based questions. Answer each question accordingly.

Section E — question number 27 to 30 are Long Answer type-II
questions. Each question carries 6 marks. Write answer to each question

in 170 to 180 words.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such
questions has to be attempted.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired

candidates only.

3 P.T.O.



e

g - %
Y T 1 12 T Tgfahed ThR S 1 i BT § | 12x1=12
1. TefciRea SeAT3ti Sl ShIeTshy SR SaTeId HifT 3R 3T €9 § T8 fashed gHT: 1
(i) UNA-%F qHEE |
(i) STHITREAH YL BT HATHAT
(iii) Giferad g9 o1 ferered
(iv) &9 4 HTSETC! hifd
A) @), @), (1), @v) (B) (1), (v), (i1), @)
(C) @v), (D), (i), @) (D) (1), @), (1), @v)
2. Tl % e UTETd WA o ot ferepmar o foru frmforRaa & & fopaent e fopam
o ? 1
(A) Tt s (B) FISHT A&
(C) Mg JmEm (D) fife s
3. fr=faRed o @ wia Kt B o v <t famda J 3wea U IRdE 99 | it g9 @6
fortre femam o 2 1
A) wEr (B) &g
(©) #Fg (D) TR
4. frefafad § & S Tl St & STEH ST TicHTied Hid 2 ? 1
(A) S g Ity (B) UTeROT TRETOT SAffam
(C) Torga arfefrm (D) YA 3T R Tiferslt
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SECTION - A

Question No. 1 to 12 are Multiple Choice type questions carrying
1 mark each. 12x1=12

1. Arrange the following events in chronological order and choose the correct

option as answer : 1
(1) Indo-Russian Strategic Agreement

(11) The Soviet invasion of Afghanistan

(111) Disintegration of the Soviet Union

(iv) Socialist Revolution in Russia

A) @), @), (1), Gv) (B) (1), (v), (i), @)

(©) Gv), (W), (), (1) (D) (i), @), (1), Gv)

2. Which one of the following was formed for the planned development of

India, just after independence ? 1
(A) Election Commission (B) Planning Commission
(C) Shah Commission (D) NITI Aayog

3.  Which one of the following Princely States of India initially opposed

joining the Indian Union ? 1
(A) Baroda (B) Hyderabad
(C) Mysore (D) Gwalior

4.  Which one of the following encourages the use of renewable energy ? 1
(A) Energy Conservation Act (B) Environment Protection Act
(C) Electricity Act (D) National Auto Fuel Policy

2259/5/1 5 P.T.O.
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G-I T-I1
(a) | cferor ufirng & o 3ot Srefedeet bl SeR s M | (1) | HierdE
CIKIRESIER]
(b) | vEct 39 1 | Yoo I AT AT | H I8 Th | (i) | WRd
TR % |
(c) | =R T & &t & oy W o (iii) | iR
(d) | BT 3R A THYS TRl & s FEy H, 39 | (iv) | AU
3 | BT A T BT W& |
Tal fashed gHT

@ ((b) (¢ (@
(A) Gi) @) G) @Qv)
B) () @ (i) ()
©) G @G G@Gv) (ii)
D) Gv) @) Q) @
6. i fou 7T I3 T €1 HHT i SHEST: AR (A) AT HRUT (R) o &9 H Afhd feram
2 | ST Y 4 TE forehed o1 =1 hifvw |
IRHT (A) : YRA T = 310 TS T T&A, A A SIS TEG h hiwdi ° 913,
TREIT=i1 <61 HHT T Fedt g5 SUsTR & foeg 3T=ie & X fox |

SR (R) : AT ! BT, ST9h @1, Wl shi Ig@r § e aen TR @ T
< e Uet |

Torshed -

(A) 3AMHA (A) 3T HRO (R) GHI TET & 3T SR (R) A1heA (A) i T AT 7 |

(B) AfHeH (A) 3R HROT (R) GHI Hal 8, 9T HRT (R) AMHAT (A) 1 F& ST
T E

(C) 3AMYHYT (A) T B, AfhT SR (R) Toid 2 |

(D) 3R (A) TTerd B, wifeh 1T (R) Tl § |
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5.  Match the List-I with the List-II correctly :

the pro-democracy groups, the military
had prevailed over democracy in this

country.

List-1 List-I1
(a) | The first country to liberalise 1its| (1) | Maldives
economy in the South Asian region.
(b) | Earlier this country had the Sultan as its | (i1) | India
Head of State. Now, it is a republic.
(¢) | Aland locked country. (111) | Pakistan
(d) | In the conflict between the military and | (iv) | Nepal

Choose the correct option :

(A)
(B)
(©)
D)

6. In the following question, a statement of Assertion (A) is followed by a

(@) (b) (c) (d)
(i) @O () @)
i) @ @) @)
i) @ @Gv) (id)
@(v) () @i @)

statement of Reason (R). Choose the correct option as answer.

Assertion (A) : People started protesting against the increase in prices of
essential commodities, food scarcity and growing unemployment before

the fourth General elections in India.

Reason (R) : Failure of monsoons, widespread drought, decline in
agricultural production and serious food shortage caused the problem.

Options :

(A) Both the Assertion (A) and the Reason (R) are correct and the
Reason (R) 1s the correct explanation of the Assertion (A).

(B) Both the Assertion (A) and the Reason (R) are correct, but the
Reason (R) is not the correct explanation of the Assertion (A).

(C) The Assertion (A) is correct, but the Reason (R) is incorrect.

(D) The Assertion (A) 1s incorrect, but the Reason (R) is correct.

2259/5/1
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7. TAfafea 1 @ &1 @1 faemeeia @ SHEe Hi g & I dhadrash HaEd s

TAT TEAT <27 2T ?
(A) YA (B) diferEa™
(C) U (D) i

8. W o AISHT TN o TAM T Afel SR BT T fopam e amiifeh
(A) & g AT & T |
(B) g forepra i 75 IR ST TTHAT i T STITERTER BT ST T&T T |
(C) ¥8 Il TE U THSES! Higet I STETRa o |
(D) b8 TSI AISHT T 6 9T T8 o |

9. el SETG WTEA hl Yo % e, WA Ue % fore Sfexr mieft ain Feferfiaa & & ferm
Teh o o1 diel Tfereqe oft 2

(A) TRRS GaTs (B) . HEIS
(C) wH. Ffemoa (D) .. il

10. = feu 7T e T <1 HUET Bl SHE: IR (A) TUT HROT (R) & B9 T 3iferd fomam man
2 | T &9 T T foreheq o1 =em HifS |

ANRUT (A) : I T AP AT TH BT ST ET R |
HROT (R) : &l & GHAT HUSA H SIS 16 shl 71 H TR HH 21 & 2 |
Trhed
(A) 3MH (A) 3T HW (R) THT & & 3 BT (R) ke (A) 1 ot = 2 |
(B) AfTReH (A) 3R HROT (R) THI &l &, T HRT (R) IIHAT (A) 1 T ST
T |
(C) AR (A) TE 8, DT HRT (R) 7oA 7 |
(D) 3RHAA (A) TeTd 8, AfehT SR (R) 981 2 |
2259/5/1 8
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10.

Which one of the following developing countries was the first to

successfully control the rate of growth of population ? 1
(A) India (B) Pakistan
(C) Nepal (D) SriLanka

Planning Commission of India was replaced with NITI Aayog because

(A) 1t had become very old.
(B) it was becoming irrelevant to face the new challenges of development.
(C) 1t was totally based on Socialist model.

(D) many states were not in favour of Planning Commaission.

After the death of Lal Bahadur Shastri, there was an intense competition
for the post of Prime Minister between Indira Gandhi and which one of
the following ? 1

(A) Morarji Desai (B) K. Kamraj
(C) S. Njjalingappa (D) V.V. Giri

In the following question, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the correct option as answer. 1

Assertion (A) : Presently the global atmosphere is warming up.

Reason (R) : A steady decline in the total amount of Ozone in the earth’s
stratosphere.

Options:

(A) Both the Assertion (A) and the Reason (R) are correct, and the
Reason (R) is the correct explanation of the Assertion (A).

(B) Both the Assertion (A) and the Reason (R) are correct, but the
Reason (R) is not the correct explanation of the Assertion (A).

(C) The Assertion (A) is correct, but the Reason (R) is incorrect.
(D) The Assertion (A) is incorrect, but the Reason (R) is correct.

2259/5/1 9 P.T.O.
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11.

12.

13.

14.

15.

16.

17.

18.

Top® T < Hiferra 99 H |GG o 37 i faf-ad fhaT ? 1
(A) I R Hehe

(B) 8 forva =reen %1 3¢

(C) Giferad T o1 forered

(D) 3TRIhT e § 9fg

30 U= &1 I ferfge e | wdierte s s mn | 1
(A) ST (B) foem
(C) wmETs (D) HeA T

qug-g 6x2=12
S 1992 H TR-Si-sHfE 0 seia gesf RreR-wwem’ o fheal Q aiomEl
ST Y | 2

TITEL0T 3R ATehfieh HETEHI  Hge, forea Tifd o1 fewan il s 0 & 7 fohgi &1 Shrom
&1 fargersor HifT | 2

1992 ¥ TFd Y WEHHT gR1 I S i S Uy e uieg § wet
fepgl 1 TRTehTrdl sl Ty HIfSu | 2

YT o TSITceh 3T AT Sfem § oy 1967 I Teh Hgcaqul 4STd WA o g Gl HRUT

Y i | 2

Tsfer el 37 gEe g diiare g 1985 H Sed1eiiid USite GHeEid o foheal l S
T IooTg HITT | 2

TTSS-4 shl TR o hIE ol ATH TE HIT | 2

2259/5/1 10
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11.

12.

13.

14.

15.

16.

17.

18.

Which event marked the end of Communism in the Soviet Union ? 1

(A) Cuban Missile Crisis
(B) Rise of New World Order
(C) Disintegration of the Soviet Union

(D) Rise in US economy

Name the state from which Chhattisgarh was carved out. 1
(A) Uttar Pradesh (B) Bihar
(C) dJharkhand (D) Madhya Pradesh

SECTION - B 6x2=12
Explain any two outcomes of the ‘Earth Summit’ held in June 1992 at

Rio-de-Janeiro. 2

Analyse any two reasons as to why issues of environment and natural

resources have become a part of the World Politics. 2

Explain any two complaints related to the U.N. Security Council reflected
in the resolution passed by the U.N. General Assembly in 1992. 2

Explain any two reasons to consider the year 1967 as a landmark year in

India’s political and electoral history. 2

Mention any two provisions of the Punjab Accord signed by Rajiv Gandhi
and Harchand Singh Longowal in 1985. 2

Explain any two advantages of Coalition governments. 2

2259/5/1 11 P.T.O.
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Qg -1 5x4=20

19. Sveliohtur o fepegl =R aftomdi bt s=men hifse | 4

20. (a) “YRA J Hifaad 99 o foeed o ¢ guft e T <3N & 1Y 3= Gy §90 W B
HAfeh T 3R AR o s Tay 1t off gedr 31fies dereqol & |7 foredl a1 ereton
1 FERAT Y T8 HUH I AIEd 3aU | 1
YT
(b) 3N Ig H & A, R rdeaey fova & 3= famai i gomn ¥ stfees
foepfara oft | Tobe oft Tiferra womeft § oo Ut foemard off, St 38 STodent O 31e
Ht & | W fopeel g1 fersrwarat =1 gexries ife | 4

21. (a) UIRAEAM H ThA AAlhad UG i H 3173 fohegl Q1 Y@ Il hl =

£||\3Q| 4
YT
(b)  “@Teh 3 feqor WS e o wguef wreri % arewm ¥ wedn faehfia w0 6 Se
T bl 2 |7 T 3T <ol 39 hF oh] ATFHTd 38Uy | 4

22. 1974-1975 % CRH S TR o fovg 5T oy wewmi & fou Ioiert fohdl ar
gt o1 o it | 4

23. WA h! TSIl o GHY 8 ookt WA H foetd de < e fafens § gfed geamsny <1 9uMH
Hifs | 4

2259/5/1 12
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19.

20.

21.

22.

23.

2259/5/1

SECTION - C 5x4=20

Explain any four consequences of Globalisation.

()

(b)

()

(b)

“After the disintegration of Soviet Union, India has maintained good
relations with all the new independent countries, but the most cordial
relations are still there between Russia and India.” Justify the

statement with two examples.
OR

During Cold War period the US economy was more developed than
the rest of the world. Still the Soviet system had some special
features which distinguish it from the US. Evaluate any two such

features.

Explain any two main challenges faced by Pakistan in establishing a

successful democracy.
OR

“SAARC has taken a major regional initiative in South Asian States
to evolve co-operation through multilateral means.” Justify the

statement with two examples.

Describe any four circumstances that led to protests against the Congress

Government during 1974-1975.

Describe the events that took place in Sikkim from the time of India’s

independence to its merger with India.

13 P.T.O.



e

LCRCER)

24, g feu 7T ST 1 AERE HIfT TR feu Tu e % I T

Rd & Bie-a¢ fafi= 31epR % 3N 8 s IH & a9redT o foeg 37aim TR 3
1 T IR | GeTs o I TET I o 36 el o1 fotry fopam | gfeem i
ST THAT T fob TETST o T A <1 TRt - o6 fote B1e T s =nfeu | warei
% ITEhT ! HATH-THS § TER 9 A Ufcrgries yftrent s 3 stfirepdt Tamet bt
IR TR T § wfee 2 o fore Troft e fora |

(24.1)

(24.2)

(24.3)

(24.4)

2259/5/1

3xX4=12

4x1=4

1947 1 frfew sfvean < favrem o g3 forg fagia s arem fomam o 2

(A) IR E= 61 g
(B) ST Gt 1 fagia
(C) =nfiie sgaEn &1 fagd

(D) EHHAT 1 g

AT YA & U0 IT-TYTHE i o ?
(A) . &I, TR (B) WER YA
(C) . T (D) @M 3eget TR TH

e o g oo sfugan o fopat oot famd off 2

(A) 556 (B) 566
(C) 655 (D) 565
<t FmEal o S H 3985 9 b E1 6 o0 g ?

(A) YT TTHR HS 1 ] WA ¢ o [T IR ot |

(B) SITTE o SMTEeh - T WA 1 60T S T Bl fehaT T |
(C) <=t famad fafest wredia ammsa & ueh faaTs v 0w of |
(D) TS TamEd T8 T T WK T 1 feed s gt off |
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SECTION - D 3x4=12

24. Read the passage given below and answer the questions that follow: 4x1=4

The interim government took a firm stance against the possible

division of India into small principalities of different sizes. The Muslim

League opposed the Indian National Congress and took the view that the

States should be free to adopt any course they liked. Sardar Patel played a

historic role in negotiating with the rulers of princely states firmly but

diplomatically and bringing most of them into the Indian Union.

(24.1)

(24.2)

(24.3)

(24.4)

2259/5/1

Which principle was followed for the division of British India at
the time of partition in 1947 ?

(A) Principle of administrative control

(B) Principle of ethnic composition

(C) Principle of religious majorities

(D) Principle of equality

Who was the first Deputy Prime Minister of free India ?

(A) Dr. B.R. Ambedkar (B) Sardar Patel

(C) V.K. Menon (D) Khan Abdul Gaffar Khan

How many princely states were there in British India at the time
of independence ?

(A) 556 (B) 566

(C) 655 (D) 565

Which of the following statements about the princely states is
NOT correct ?

(A) The Indian government was ready to give autonomy to

some regions.

(B) The ruler of Junagadh had decided to be part of

independent India.

(C) Princely states covered one third of the land area of British

Indian empire.

(D) Some of the princely states clearly wanted to become part

of the Indian Union.

15 P.T.O.
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25. feu mu vra & ueHifaes W@r-aAfes 5, 91 T3 S (A), (B), (C) 99T (D) g e
T g | = € TS SRR o SR T 37 TUSAT ol TgaM shifTe 37 319 ST-gfedent |
T9oh TE! I, TN <hl TS THeRR] shl 3hH ST 9T Ao H feu U gefeq 37er =1 feu

T I o AR FAfEm

4x1=4

TN bl T8 ST bl hH
&

RICICEREICIR LR

USY bl AH

(1)

(11)

(i)

(iv)

(1)

(i) YRR S % TEATIh T JETE J&si & Faferd T |
(iil) =8 U= Foraest gag qd TumEE SaTetere e | o |
(iv) T e Tl TSpAT 37d R § Fafed T |

TR W@T-HHRE

A '\
3 o SR
i ‘. Y
L
Y
L

P

2259/5/1
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25. In the given Political outline map of India, four states have been marked as
(A), (B), (C) and (D). Identify these states on the basis of the information
given below and write their correct names in your answer book along with
the respective serial numbers of the information used and the concerned
alphabets shown in the map as per the format that follows : 4x1=4
Sr. Number of the Alphabet Name of the
information used concerned State

@

(i1)

(111)

@av)
(1) The state where the first non-Congress government was formed by

E.M.S. Namboodiripad.
(11) The state that belongs to Syama Prasad Mookerjee, founder of
Bharatiya Jana Sangh.
(111) The state to which former Prime Minister Jawaharlal Nehru belonged.
(iv) The state related to former Health Minister Rajkumari Amrit Kaur.
E s, POLITICAL OUTLINE MAP OF
By INDIA
2259/5/1 17 P.T.O.
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e : FreferRea s vt gfater wlaf & foefe, S 68 25 % &F |

21 A4x1=4

(25.1) 39 UST 1AM fefau &t 3,09, 8. Tegiiume g ugelt -] TR 61

T3 Temam T o |

(25.2) WA o oW & fafeq e o1 AW fofen |

(25.3)  TEad YNd % Jd YT YRAR TR T gRT TTed TsHITdeh gal 1 1
fefm |

(25.4)  WRA ! Td T H TIHAN 3 SR & Heerd Tsd 1 A1 foafam |

26. ez T HEA T 2006 H I G &M T AT 1T STSHEU § FEET21A & | e 1
G ST Hich < 4T T A1 o I T

(a) oA T femme g =R AN (Sreiieh o) o STUR Tt HiRid Hed 1 TgeH

3Tkt A Tt | 1
(b) red H e T Sfe i wgEH X 3w M ferfEn | 1
(c) SRS 3 W& U JTShA0T & foha o ? 2
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Note: The following questions are for the Visually Impaired
Candidates only in lieu of Q. No. 25. 4x1=4
(25.1) Name the state where the first non-Congress government was

formed by E.M.S. Namboodiripad.
(25.2) Who was the first Chief Election Commissioner of India ?

(25.3) Name the political party formed by the former first Indian

Governor General of independent India.

(25.4) Name the state which is related to Rajkumari Amrit Kaur, the

former Health Minister of India.

26. The given cartoon is related to Israel’s attack on Lebanon in June 2006.

Study the cartoon carefully and answer the questions given below :

A nz

(a) Identify and name the organisation whose four Logos are shown in

the cartoon. 1
(b) Identify and name the person shown in the cartoon. 1
(¢c) Why did Israel attack Lebanon ? 2

2259/5/1 19 P.T.O.
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e : Frefafaa we7 et gfeentaa qhenfiE + fow, wov w@ 26 & &M W

g1 4x1=4
(26.1)  IHE® (UNICEF) =1 forga &9 faifaw |

(26.2) I HTHIST TN AT I T ITAUTHRT ST ?
(26.3)  TIF TY o AT T Fehe <11 3 gcmer fop & 2
(26.4)  HIF Y I B = Tt qaT] FEnfht i grar 3 wrifayel 3w @
Tt g 2
g -8 4x6=24

27. (a) YRA g T-YRuRes Guear 1 o™ TRUNe GUedl W 3 @ A & fohegi o=

HTOT hl SAREAT HIT | 6
3HYdr
(b) FEaNT % foIQ Tk o fohgil i T3 Tl <hl IgTaeor |fga e hifu | 6
28. (a) I TN H AChHT YR o A, = b G AR <l 374 IR 1 A9 FAT
T Tt umn 2 s 9 s faifge | 6
YT
(b) I F= &1, Th (h TN ITeh HTEAT T FEeTht HATIRIh T Teh
IS S <hl Uk o1 9uiq IS | 6

29. (a) 20d Tl & 3ifqy g & TH IR T 8§ afed gl fF yg@ Tt o

o I | 6
YT
(b) 1989 o HTE e Tfcaer 3T he TEHT o s, JHI gl | I 310 Tl &
forgl o1 feigati o1 ¥om IR | 6

2259/5/1 20
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Note: The following questions are for the Visually Impaired
Candidates only in lieu of Q. No. 26. 4x1=4

(26.1) Write full form of UNICEF.

(26.2) Which organisation became the successor of League of Nations ?
(26.3) How many states signed the United Nations Charter ?

(26.4) Which U.N. agency is concerned with the safety and peaceful
use of nuclear technology ?

SECTION - E 4%x6=24

27. (a) Explain any three reasons for spending more on traditional security

than on non-traditional security by India. 6
OR
(b) Explain any three new sources of threat to security with examples.
6
28. (a) While the Chinese economy has improved dramatically, why has
everyone in China not received the benefits of the reforms ? State
any three reasons. 6
OR
(b) Describe the process of evolution of the European Union from an
Economic Union to an increasingly Political one. 6
29. (a) Explain any three major developments which took place in Indian
politics during the last decade of the 20th century. 6
OR
(b) In the midst of severe competition and many conflicts after 1989, a
consensus appeared to have emerged among most parties. Explain
any three points of consensus. 6
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30. (a) “wada WRA 6! fogw HAifa 3 wnfaqul fova o T 1 AR HH &1 =™ Ha g 1

3H U % U T hIg - TR b ST |
AT

(b) “ara fastufrasiertor & ufshan &1 T ot Tmsd IR T Hi Fifd &1 HX
forieft w1 2 17 39 oF o 9eT H IE ofiF ITY deb SIT |
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30. (a) “The foreign policy of independent India has pursued the dream of a
peaceful world.” Support the statement with any three suitable

arguments.

OR

(b) “India was a staunch supporter of the decolonization process and
firmly opposed racism.” Support the statement with any three

suitable arguments.
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